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fit 3% J\(A)

(R 1/4)
“E-NEZ M BIERTER
EEHREH
1) BERAREELEFEERAREENBEBER
BREREAR
= ARZHNK R ER (¢
BEAM | gider ak RPHEE (%)
13:00 15:00 17:00 19:00
6 160 13 240 18 344 22 498
—HA7H 36 976
16.66% 35.81% 49.61% 60.84%
7278 17 599 24 353 30113
—HA+=H 48 476
15.01% 36.30% 50.24% 62.12%
13 438 30 839 42 697 52 611
Bt 85 452
15.73% 36.09% 49.97 % 61.57%
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fit 3% J\(A)

(TRE 2/4)
2 FERARER
BEREREAL
= HREZFHK BREER (9
BREM | gidkris REGRE (%)
13:00 15:00 17:00 19:00
2195 4 690 6 629 8 488
—H7NH 13 528
16.23% 34.67% 49.00% 62.74%
3000 7 355 10 188 12 841
—H+=H 19 969
15.02% 36.83% 51.02% 64.30%
5195 12 045 16 817 21 329
Bt 33497
15.51% 35.96 % 50.20% 63.67%
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fit 3% J\(A)

(RE 3/4)
3 EERERRREZ
BEREREAL
B BRI 2 BR (%
BEREM | eidvh i RERE (%)
13:00 15:00 17:00 19:00
3965 8 550 11715 14 010
—HA7\H 23 448
16.91% 36.46% 49.96% 59.75%
4278 10 244 14 165 17 272
—H+=H 28 507
15.01% 35.94% 49.69% 60.59%
8 243 18 794 25 880 31282
Bt 51955
15.87% 36.17 % 49.81% 60.21%
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fit 3% J\(A)

(RE 4/4)
4) HIHRREZ
BEREREAL
=5 B RBER R (0
BEHH B30 i 3 BRBER (%)
9:30 | 11:30 | 13:30 | 15:30 | 17:30 | 19:30 | 21:30
168 881 1581 | 2125 | 2590 | 3121 | 3553
—H=+H 7 104
2.36% | 12.40% | 22.26% | 29.91% | 36.46% | 43.93% | 50.01%
168 881 1581 | 2125 | 2590 | 3121 | 3553
Bt 7 104
2.36% |12.40% | 22.26% | 29.91% | 36.46% | 43.93% | 50.01%




